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1.  Given our discussion, why would a bonus system based on EVA lead to a better resolution of stockholder/manager conflicts than a bonus system based on the growth of sales?

2.  Suppose you suspect that Christmas In The 90’s Inc. (a store that sells special hot-weather Christmas clothing) has too little debt in its capital structure.  How would you go about determining whether or not this is the case?

3.  Santa Skiers Inc. (a company that supplies downhill and cross-country skiers dressed up as Santa to parties) has recently decided that it must invest in a ski-boat in order to have any business during the hot weather we are expected to have through Christmas.  The boat and facilities would cost $250,000 to purchase.  A total of $150,000 would be paid today and due to a no-interest loan on the boat itself, additional payments of $50,000 each will be made one and two months from today.  Since Santa Skiers would be able to lease out the boat during the non-Christmas season to ski-shows, Santa Skiers estimates that the net cash flow would be $3400 one month from today and that monthly cash flows would increase by 0.2% per month through 10 years from today (the life of the boat).  The beta of Santa Skiers’ existing assets is 0.8 and of the new boat and facilities will be 0.5.  The new boat and facilities will represent 60% of Santa’s total assets.  The return on T-bills is 4.4% and the expected return on the S&P 500 is 12.2%.  Should Santa buy the boat?

4.  New Coach Every Two Years Inc. (a company that brings in a new CEO to set up a completely new business plan every two years then fires the CEO just as all of the employees are beginning to figure out the new system) is a privately held company whose owner is planning to retire and sell the firm.  An investment banker has estimated that the present value of all future cash flows that the firm will generate is $3.5 million.  New Coach currently has an outstanding loan that calls for a $2 million lump sum payment five years from today.  The beta of the firm’s assets is 1.4, and the standard deviation of returns on the firm’s existing assets is 39%.  The return on Treasury strips by maturity are as follows:  1 year = 4.67%, 2 year = 4.69%, 3 year = 4.73%, 4 year = 4.76%, 5 year = 4.70%, 6 year = 4.85%, 10 year = 5.19%, 20 year = 5.62%, 30 year = 5.29%.  If we view the owner’s stock in the firm as an option on the firm’s assets, how much should the owner be able to sell the firm for?

5.  Suppose that K-State Rejects Bowl Bid Inc. has just announced that it intends to increase its dividend per share.  At the announcement, the price of K-State stock rose and the price of K-State’s outstanding bonds fell.  Given our discussion this semester, what would account for these reactions?

6.  Assume that Moxxon Inc. has an expected return of 14%, a standard deviation of returns of 22%, and an asset beta of 0.8.  Assume also that Mobile Telephone Inc. has an expected return of 23%, a standard deviation of returns of 39%, and an asset beta of 1.4.  The correlation between Moxxon and Mobile Telephone is 0.48.  Assume also that the return on T-bills is 4.23%.

a.  Sketch the risk return possibilities available to you as an investor if you limit your investments to Moxxon, Mobile Telephone, and T-bills.

b.  Assume that Moxxon acquires Mobile Telephone to become Moxxon Tel.  After the merger Moxxon’s assets will represent 60% of the firm’s total assets and Mobile Telephone’s assets will represent 40% of the firm’s total assets.  On the same graph as “a”, sketch the risk return possibilities available to you as an investor if you limit your investments to the new combined company Moxxon Tel., and T-bills.

7.  Zorkmid Inc. uses its weighted average cost of capital for all of its capital budgeting decisions.  Under what conditions is this not the optimal approach?

8.  Why are better capital budgeting decisions made using the net present value rule rather than the internal rate of return rule?
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Answers

Note:  For essay questions, the numbers in brackets represent the number of “raw points” that each part of the answer is worth.  The scale below each question indicates how many points (out of 50 possible) various numbers of “raw points” are worth.  For problems, the numbers in brackets represent the number of points that each part of the solution is worth.

1.  A compensation system based on EVA rather than sales would lead to better resolution of stockholder-manager conflicts because:

1)  an EVA based system would reflect the costs [8] of generating those sales.  

Ex.  raw materials [1], labor [1], plant & equipment [1], capital (debt and equity) [2]

2)  Reflects cash flows rather than accruals [6].  Note that sales do not equal cash flows if sales are on credit [1].

3)  Can be used at the plant or divisional level [4].  Note that this may or may not be possible with sales.

Overall => EVA is more closely related to the creation of stockholder wealth [10] than market share.

Scale (raw = point):  26=50, 25=48, 24=46, 23=44, 20=42, 19=39, 18=37, 17=36, 12=34, 11=33, 10=32, 8=30, 2=25

2.  
1)  Calculate some type of leverage ratio [4] (leverage ratio, debt ratio, debt/equity) and see if far below industry average/leader [4].

2)  Calculate interest coverage ratio [4] to see if above 1 [4] and industry average [2].

3)  Examine stability of earnings to see whether sure to use [4] tax shield 

=> if highly stable earnings can support more debt [4].

4)  Determine whether would have low financial distress costs [4]

=> potential to lose sales [2] if financial distress

=> cost of losing employees [2] if financial distress

=> impact of lost credit purchases [2]

5) Examine covenants to see of close to violating [4]

=> if not, then can increase debt [4]

6)  See if high cash flow that being wasted by management [4]

=> if so, need more debt to discipline mangement and keep feet to the fire [4]

Scale (raw = point):  28-30=50, 18=46, 14=44, 12=42, 11=40, 10=37, 8=35, 6=33, 4=30, 2=25

3.  r = 4.4 + (12.2 - 4.4).5 = 8.3 [+12]
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=> NPV = 311,397.84 - 249,008.81 = +62,389.03 [+2]

=> Should undertake since NPV > 0. [+2]

Partial credit:  Equations:  r(1), r(1/12), V0 (outflows) [+5 each]; PV of outflows [+7]

Variables:  4.4; -150,000; -50,000; -50,000; 3400 [+1 each]; (12.2-4.4); 0.5; 1/12; 1; 2; 120 [+3 each]
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4. 
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=> 2,108,097.43

Partial credit:  Equations:  d1 ,S0 [+10 each]; d2 [+5]

Variables:  3.5, 2, .047 [+5 each]; .39, 5 [+3 each]; .91149, .68439 [+2 each]

5.  Stockholder/bondholder conflict [4]

=> as increase dividend, two things happen:

1)  value of firm falls more than expected [2]

2)  risk of firm increases [2] due to riskless cash being paid out

=> as value of firm falls:

1)  value of bonds fall [1]

2)  value of stocks fall [1]

=> as risk increases

1)  value of bonds fall [1]

2)  value of stocks rise [1]

=> value of stock drops by an amount less  than the dividend [2] so that net increase in wealth

=> at announcement, stocks should increase in value, bonds should decrease in value.

Scale (raw = point):  8=50, 7=47, 6=44, 5=41, 4=37, 3=34, 2=30, 1=25

6.  Description of graph:

a.  Point of tangency from risk-free rate (4.23%) to feasible set.  The feasible set curves to the left of the two points representing Moxxon (14% return, 22% std. deviation) and Mobile Telephone (23% return, 39% std. deviation).

b.  The merged company is represented by a single point somewhere along the curve.  It is likely not the point of tangency.  As a result, the line through this point (from the risk-free rate) is lower than the line in "a".

Raw Points:  Labels:  E(r), , 23, 14, 4.23, 22, 39 [1 each]; Points representing Mobile Telephone and Moxxon [2 each]; feasible set, point of tangency, point through merged company, line through tangency to risk-free, line through merged company to risk-free (lower line) [6 each]

Scale (raw = point): 35=50, 28-33=49, 24-26=47, 22-23=46, 21=45, 19-20=44, 17-18=42, 15=40, 14=38, 13=36, 12=35, 11=34, 10=33, 8=31, 7=30, 6=29, 5=27, 3=25
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7.  
1)  Risk of project differs from firm's existing assets [6]

=> may incorrectly reject [2] projects with risk that is less [2] than the risk of the firm's existing assets

=> may incorrectly accept [2] projects with risk that is greater [2] than the risk of the firm's existing assets

2)  Difficult to accurately assess the required return [2] on the firm's securities due to:

a)  small samples [2]

b)  risk of firm has changed recently [2]

c)  market is not in equilibrium [2]

d)  firm has done much better/worse than average lately [2]

Scale (raw = point):  24=50, 14=47, 10=45, 9=43, 8=41, 7=39, 6=37, 4=35, 2=32, 1=25

8. 
1)  Project with the highest IRR may not be the one that increases wealth the most [4] since:

a)  ignores scale of project [2]

b)  long-term projects tend to have lower NPVs [2]

c)  if project is more like borrowing want lowest IRR < required return [2]

2)  May have multiple IRRs [2]

3)  May have no IRR [2]

4)  Cannot compare projects with different risks [2]

5)  Difficult to compare IRR to required return if required return is not constant across time. [2]

NPV has none of these problems. [4]

Scale (raw = point):  14=50, 11=48, 10=46, 9=44, 8=42, 6-7=40 , 5=38, 4=36, 3=34, 2=32, 1=25
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